
BY WUNDERLIC
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de 1

Fahrerrastenverlegung
BMW R 1200 RT

Bestellnummer 31410-101

Rider footrest lowering
 BMW R 1200 RT

Part Number 31410-101

Pendane basse
 BMW R 1200 RT
Codice 31410-101

Rider repose-pieds abaissant 
BMW R 1200 RT
Pièce 31410-101

Jinete estriberas bajas
BMW R 1200 RT
Pieza 31410-101

A

News, Shop, Downloads + Informationen:
www.wunderlich.de

Kataloganforderung + Downloads:
www.wunderlich.de/Katalog

Catalogue download (English):
www.wunderlich.de/en

General information, dealers and news:
www.wunderlich.de/en

Download catalogo (italiano):
www.wunderlich.de/en

Informazioni generali, dealer e Novità:
http://www.wunderlich.de/en

Télécharger les catalogues (francais):
www.wunderlich.de/en

Informations générales et distributeurs:
www.wunderlich.de/en

Descargar los catálogos (español):
www.wunderlich.de/en

Informaciones generales, tiendas y noticias:
www.wunderlich.de/en

M6 x 20

L

M6 x 20

M6 x 20M6 x 20

L

B C



BY WUNDERLIC
H

R

R R L R

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de 2

R

FED

G

6 Nm/4,5ft.-Ib  8 Nm/6ft.-Ib  

M6 x 20 M6 x 20

38 Nm/28,5ft.-Ib  

R

H

I J

Schraubensicherung
Thread Locking Fluid
Frein Filet
Frena Filetti
Fijador de tornillos

medium  


